TIME (s)

PN efficiency in the routine phase: Revs 2701 to 3398

Scheduled Science : 82773 ks
Performed Science : 80970 ks

180000 o = 180000
g w B o
5 o 1) (@) B k5] ©
s [} < = 2 4 o (O]
= = o o = = & <
160000 & ‘@ > = = = © © = 160000
: : g S : 2 .
@ = n 0 o = o
S 3 g & e 2 o = 5
= [0 > 06 < W =
140000 - H—1— — " =& o ul —— — 140000
| I | ! | |I 1
1, | , I | I |
1] | | I i | | | 0 , I_ I
120000 + {14 =1= 2 g1 (R ! |_J_._|_. 1T | __I_.. s bl bl MREEE . 1 e R _l_]______._... H{RE AN | | __..._.I_.____.. — Lt dk-—k 120000
| I | Il !
|
1
| i A&l |
! | ! | 1 | !
I | ] I | I
100000 4 | - (F e | | ] [ 1 [ i 1 Y 1 (1 {1 i | ! | i . 100000
|
L}
80000 - - 80000
60000 - - 60000
40000 - - 40000
20000 - - 20000
0 T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 0
27012721 27412761 2781 2801 2821 2841 2861 2881 2901 2921 2941 2961 2981 3001 3021 3041 3061 3081 3101 3121 3141 3161 3181 3201 3221 3241 3261 3281 3301 3321 3341 3361 3381

REV #
Performed Science I Solar Fares G/S Problem I Inst Problem I Support other S/C I S/C Problem Science Win




